SOCIOLOGY

Paper - II
Signature of Invigilators 0OCT-11/09 Roll No.
(In figures as in Admit Card)
k Roll NO. .oocereiiiaeranrsamnsannees
(in words)
Time Allowed : 73 Minutes] [Maximum Marks : 100

Instructions for the Candidates

1 Write your Roll Number in the space provided on the top of this page.

9. This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.

3.  Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should be
a capital letter for the selected option. The answer letter should entirely be contained within the

3 corresponding square.
Correct method A Wrong method OR
4. Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under

Paper II only.

Read instructions given inside carefully.

Extra sheet is attached at the end of the booklet for rough work.
You chould return the test booklet to the invigilator at the end of paper and should not carry an

paper with you outside the examination hall.

There shall be no negative marking.

Use of calculator or any other electronic devices is prohibited.
0. In case of any discrepancy in Gujarati and English version of Questions, the English versio
should be taken as 1_:mal.

uFleuellzii vz yu-ull :

q ol el zEetl coldel oroniHl dMIEL Jiarme vl

L mi weusl olgaslEus Arial 4ilddl 6 WA (wo) uoeil 2ulent &, @AY weel 53 BAIA .

3. oy ded M Al AT odsfeus Guil azd 8. % (A), (B), (C) 21 (D) 9% eulaql e
g, Mensl Gny suled el ad el 2l Gzl dal wdd vi-HL MR S 2y 4 2l
quadl 28l

w7l fld : A uiidl Lot ] EREL|
v i weetwoietl waet @ula ICR Answer Sheet - Paper Il Bousdl 3 2la wimisil
sylvall el
W wiex swld yared smwyds afal.
oy wsdedl e puld M 2 s W2 6

o uFlay wy yTL A o wsl @ sde ¥ 4 Bdlas Al el sidum sw ulaL visl eeld
af ordl el

pme HEe

s izl st iz AR Amis Al Al

v Gesuden wa Hasgilis Wil waiel sraidl qeud 9.

0. wsae el Al @i wiios ol s B Fal Had Al sidiep 3l 9w g@anl 0adl,
Sociology—II 1 [P.T.O.]

‘44



sociology—IT




SOCIOLOGY
PAPER - 1I

Note :This paper contains FIFTY (50)

the questions.
c ol MAYAHL MR

-

AHLF A
qyz-II

Multiple-choice/Assertion and Reasoning/
Matching questions, each question carrying TWO (2) marks. Attempt All

(wo) cigfasell uadl, WA wA ASsL etruadill JER
3. ol ML Al @uidil B, WS Nl a () am 9.

“ociology is the science which

attempts the interpretative

understanding of social action.” Who

said this ?

(A) H. Spencer
(B) Max Weber
(C) Karl Marx
(D) E. Durkheim

Learning to understand our
individual lives in terms of the social
forces that have shaped them is a
ctate of mind that C. Wright Mills
called :

(A) Science

(B) The Sociological Imagination
(C) Hypothesis testing

(D) Perspective
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3. Who is the author of ‘The Rules of
Sociological Method ?

(A) Max Weber

(B) Emile Durkheim
(C) Karl Popper

(D) Thomas Kuhn

4. A status which is conferred by
society independent of an
individual’s efforts or abilities is

termed as :

(A) Ascribed status
(B) Achieved status
(C) Social position
(D) Conferred prestige

5. The ‘Solidarity’ characteristic of
modern industrial society is termed
by Durkheim as :

(A) Mechanical Solidarity
(B) Organic Solidarity
(C) Emotional Solidarity

(D) Moral Solidari ty
Sociology-II
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In research, any sub-set of
population selected to study and to

draw inferences is termed as :
(A) Sample

(B) Random sample

(C) Probability sampling

(D) Non-probability sampling
Which of the following scholars put
forwarded the term ‘ideal type’ ?

(A) Karl Marx
(B) C.H. Cooley
(C) V. Paréto

(D) Max Weber

When one part of culture changes
more rapidly than the other and
results in a dislocation between
materialistic and non-materialistic
components of culture, it is termed

as :

(A) Cultural change
(B) Cultural dislocation
(C) Cultural lag

(D) Cultural difference
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9.

10.

11.

M. N. Srinivas’ concept of 9,

Sankritisation refers to :
(A) A structural change
(B) A class transformation
(C) A positional change

(D) A regional change

A prevention of an individual or 10,

group from participating in any
given social activity such that they
are perceived as an “outsider” is
termed as :

(A) Alienation

(B) Social disharmony
(C) Social exclusion

(D) Social distinction

1¥;

Who has developed the concept

‘Verstehen’ ?
(A) Weber
(B) Parsons
(C) Merton

(D) Durkheim
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14.

13.

In Parsonian AGIL model which
institution 1s primarily associated
with adaptation ?

(A) Economy

(B) Polity

(C) Education

(D) Religion

Which term is used to denote a
temporary relatively unorganised
gathering of people who are in close
physical proximity ?

(A) Social group

(B) Crowd

(C) Social movement

(D) Social category

Which term is used by Pareto to
refer to a category of people who are
considered as the best in respective

field of specialised activity ?
(A) Elite

(B) Foxes

(C) Superiors

(D) Lions
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15. The process by which an adult

16.

17.

whose previous socialisation was
inadequate is made to behave in
ways that the society approves of is

termed as :

(A) Adult socialization

(B) Anticipatory socialization
(C) Resocialization

(D) Behaviour Modification

process

The group to which an individual
voluntarily and formally joins is

called :

(A) Out-group

(B) Organisation
(C) Association
(D) Community

Whose name is associated with the

term ‘Folkways’ ?
(A) William F. Ogburn
(B) William G. Sumner
(C) Ralph Linton

(D) Edward B. Tylor
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18. Which of the following 1s Freud’s

19.

term for the unconscious part of the
self that compels for immediate

gratification of individual’s needs ?
(A) Id

(B) Ego

(C) Superego

(D) Oedipus complex

A group of people sharing same

cultural heritage is defined as :
(A) Racial group

(B) Ethnic group

(C) Heterogeneous group

(D) Clan

Material culture of a society is
reflected in its :

(A) Moral standards

(B) Power of the state

(C) Wealth

(D) Technology
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21,

22.

23.

Sociologically speaking, which of the
following statements is not true ?
(A)
(B)

State is a social institution

State holds a monopoly over
the use of force

(C) The state is defined by its
authority to generate and

apply collective power

(D) There is no difference between

the state and government

Who gave the idea of ‘Cybernetic

Controls’ in Sociology ?
(A) Robert Merton

(B) J.H. Johnsons

(C) K. Davis

(D) Talcott Parsons

Who formulated the concepts of the
‘Little tradition’ and the ‘Great
tradition’ ?

(A) Milton Singer

(B) McKim Marriott

(C) Radeliffe-Brown

(D) B. Malinowski
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24,

26.

Behaviour against the social norms
which goes beyond the tolerance of

society is termed as :

(A) Intolerable behaviour
(B) Immoral behaviour
(¢) Deviant behaviour
(D) Criminal behaviour
Neo-local family is :

(A) Newly married couple always
lives in new locality

(B) Newly married couple lives in
weekend houses

(C) Newly married couple lives
independently

(D) Newly married couple lives

with parents

Which term is used to refer to
chared ideas about what is right and
wrong, good and bad, desirable and

undesirable ?
(A) Norms
(B) Values
(C) Goals

(D) Rules

Sociology—I1L
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27.

28.

29.

The organisation that has a

monopoly on the legitimate use of
force in a given territory is called -

(A) State
(B) Nation
(C) Company
(D) Party

According to Pierre Bourdieu
‘Habitus’ refers to :

(A) A state of mind representing
acquired pattern of thought
and behaviour

(B) A place in Zoo
(C)
(D)

A form of solidarity

A disability on the part of an
individual or group to inhabit
a given place

Social norms are -

(A) Creative activities such as

gardening, and craft work

(B) The symbolic representation of
social groups in the mass media
Religious beliefs about how the

world ought to be

(C)

(D) Rules and expectations about

interaction that regulate social
life
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30. The collection of roles that goes with 80, ¥is dlssy LYW adl Asouddl

a given status is called : oy Busivil-dl A% g sda B ?
(A) Multiple roles (A) Bisis o5t

(B) Conflict roles @) dal efsil

(C) Status set (C) &% A

(D) Role set (D) o4lRsl 3%

31, Who is the author of the book 31. ‘5@l si-s sal si-slase S+

entitled, “Clags and Class Conflict Sesadlua WA Yecsril AMs 513

. . : B 7
in Industrial Society’ 7

(A) Karl Marx (A) sied s

(B) Ralf Dahrendorf (B) ¢% SeR-iSlS

(C) Lewis Coser (©) Al 533

“5d 4
(D) Randall Collins (D) 54 silau

o sul sl "l ¢
39. Conflict theory arose P cimarily as 32. sul Reld AA yRBw3L Haeid

o reaction to which theory ? A dalei Rigiard Geetd 24l ?

(A) Classical theory (A) uEre Reld

_— _
(B) Btructural—functinnaiism (B) AAUMS IR ELTES

Pl
(C) Existentialism (©) 2Rdcas

(D) Formalism (D) @3udle
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33.

34,

36.

Which among the following is not
the basic postulate of structural-
functionalism ?

(A) Functional unity

(B) Universal functionalism

(C) Indispensability of function
(D) Social structure

Who is the author of book ‘Neo-

Functionalism angd Beyond® ?
(A) Alexander

(B) Parsons

(C) Merton

(D) Malinowski

The term il’ltEI‘SUbjEc‘tiVit}f is central
concept in :

(A)  Structural-function alism

(B) Conflict theory

(C) Critical theory

(D) Phenumenolngical sociology

Reasoning that transforms specific
observations into generalisation is
called :

(A) Inductive logic
(B) Conceptualization

(C) Deductive logic

(D) Simple logic
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37. Which method did LP. Desai adopt

for his study of untouchability in
rural Gujarat ?

(A) Survey

(B) Case study

(C) Content Analysis

(D) Participant observation

38.

An error that occurs when selecting
a sample to make inferences about

the population is called as :
(A)
(B)
(C)

Error in research
Error in drawing inferences

Error in applying inferences to
population

(D)

In a questionnaire, when responses

Sampling error

39.
are restricted to a possible set of

answers, it is called :

(A) Open ended questionnaire
{B}. Structured questionnaire
(C) Indepth questionnaire

(D) Unstructured questionnaire

40.

Intensive study of a single unit of

research is known as :
(A) Explorative study
(B) Content analysis

(C) Pilot study

(D) Case study
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41.

42,

43.

When each case in the universe

studied has an equal chance of
being selected, it is called :

(A) Convenience sampling

(B) Pobability sampling

(C) Purposive sampling

(D) Non-probability sampling
For drawing adequate inferences to
be applicable to the population
under study, a sample needs to
be :

(A) Small size

(B) Voluntary

(C) Co-operative

(D) Representative

Which of the following is a
technique for qualitative research ?

(A) Survey

(B) Case study
(C) Questionnaire
(D) Sampling

The ability to achieve desired ends
despite resistance from others is
called by Weber as :

(A) Authority
(B) Ability
(C) Charisma
(D) Power
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45. Which one is a characteristic of class

society ?

(A) Anomie

(B) Mechanical solidarity
(C) Prosperity

(D) Alienation

46. When a person leaves one country

and goes and settles in another
country, this is known as :

(A) Emigration

(B) Immigration

(C) Social mobility

(D) Individual mobility

47. Match column 1 with column 2 :
Column 1 Column 2
(@) K.Marx 1. Social Theory
and Social
Structure
(b) G.Simmel 2. The Social
System

(¢) T. Parsons 3. Capital
(d) R. Merton 4. Philosophy of

Money
Key :
@ B (@ (d
(A) 3 4 2 1
(B) 4 3 1 2
(C) 2 1 3 4
(D) 1 2 4 3
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48.

49.

Match the column I with column II :

Column 1 Column II

e} Merton (1) Pattern
Variables

() Parsons (2} Manifest
Funetion

{e) LewisCoser {3) Structural
Functionalism

(d) Redcliffe Brown (4) Functions of
Conflict

Key :

(@ B (© (d

(A) 1 2 3 4

(B) 2 1 4

(C) 4 3 2 1

(D) 3 4 1 2

Which of the following is

mismatched ?

(A) Malinowski—Argonauts of

Western Pacific
Radcliffe

Andaman Islanders

Brown—The

(C) M.N. Srinivas—Caste, Class
and Power

(D) Yogendra Singh—
Modernization of Indian
Tradition
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50. Assertion (A) : The participant 50, Q8L (A) : 2soiol] [-13les o disin

observer joins the everyday routines MOULY 52al Yl 9 dxl (Bei-
of those to whom he/she wishes to Al HCLrﬂbﬂ A8 Wi
study.

Hisull 4 9.

Reason (R) : The observer attempts & o) ¢ el sl seadl

to observe action in its normal ' e :
U UaHi Buird Mlae s

natural context .
59 19,
Choose the correct answer : . , "
AY Bz Wde 531 ¢
(A) ‘A’ is true, but ‘R’ is false
(A) ‘A’ W3 8, uid R i o
(B) ‘A’ and ‘R’ are true and ‘R’ is
(B) ‘A’ i R 131 29 i ‘A’ o Wiz
the correct explanation of ‘A’
wEyzA ‘R
(C) ‘A’ is false but ‘R’ is true
(C) ‘A" Wig & uid ‘R Wy B
(D) Both ‘A’ and ‘R’ are true, but
(D) ‘A’ 3L ‘R’ ofA WAl B, uig ‘A’
‘R” is not the correct

b4 vid wedyed R oAl
explanation of ‘A’
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